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1) Question No. 1 and question No. 6 are compulsory.
2) Answer any three questions from Q.2 to Q.5.
3) Figures to the right indicate full marks.
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Q1) Fill in the blanks with suitable choice (any six) [6]
i) The Top management consists of managers at ________.

a) Lower levels b) Higher levels
c) None of these

ii) _________ describe the general directions in which an organisation plans
to move to attain its Goals.
a) Strategies b) Management
c) Decisions

iii) A strategic _______ is showing a route to the company intends to take
in developing and strengthning its business.
a) Vision b) Goals
c) None of these

iv) The ___________ of internal Environment enables a firm to decide
what it can be do?
a) Audit b) Apprisal
c) None of these

v) ________ is a business strategy that gives a definite direction.
a) Six sigma b) Merger
c) Acquisition

vi) _______ refers to attempts made by an organisation at incremental
improvements of functional developments.
a) Market Strategy b) Profit strategy
c) Stability strategy
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vii) Strategy evaluation is necessary to test the __________ of strategies in
achieving objectives.
a) Benefits b) Barriers
c) Effectiveness

viii) Total quality management reflects to __________.
a) Design of the production b) The organisation system
c) All of the above

Q2) Define the term  'Strategic management' describe nature and scope of strategic
management. [14]

Q3) Define 'Strategic planning' Explain stages involved in the strategic planning
process. [14]

Q4) Define the term 'strategic choice' Explain the major steps in the process of
strategic choice. [14]

Q5) Explain in detail the concept 'Human resource strategy' and logistic strategy.
[14]

Q6) Write short notes (any two) [12]
a) Strategic decision making
b) Significance of SWOT analysis.
c) Need of strategic evaluation
d) Six sigma.
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(_amR>r ê$nm§Va)
doi : 3 Vmg ]]                      [EHy$U JwU : 60
gyMZm :- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© Amho.

2) àíZ H««$. 2 Vo àíZ H«$. 5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.
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àíZ 1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am (H$moUVohr ghm) [6]
i) CÀM ì¶dñWmnZm‘Ü¶o ........ AdñWmnH$m§Mm g‘mdoe hmoVmo.

A) H${Zð> nmVir ~) CÀM nmVir

H$) ¶mn¡H$s H$moUVohr Zmhr

ii) ........... ho gd©gmYmaU {XemXe©Z H$aVo {H$ Á¶m‘wio g§KQ>Zobm Amnbr CX²Xrï>¶o gmÜ¶
H$aÊ¶mgmR>r {Z¶moOZ H$aVm ¶oVo.

A) ì¶yhaMZm ~) ì¶dñWmnZ

H$) {ZU©¶

iii) ì¶yhaMZm ............. {h ì¶dgm¶mMm {dH$mg d gj‘rH$aUmgmR>r H§$nZrbm ‘mJ© Xe©{dVo.

A) Ñï>r ~) Ü¶o¶

H$) ¶mn¡H$s H$moUVohr Zmhr

iv) A§VJ©V n¶m©daUmMo ............ ho g§ñWoZo H$m¶ H$amdo ho R>a{dÊ¶mgmR>r ‘XV H$aVo.

A) A§Ho$jU ~) ‘wë¶m§H$Z

H$) ¶mn¡H$s H$moUVohr Zmhr

v) ........... {h ì¶dgm¶ ì¶yhaMZm {ZpíMV {Xem Xe©{dVo

A) {g³g {g½‘m ~) EH$OrH$aU

H$) g§nmXZ
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vi) ........... {h H$m¶m©Ë‘H$ {dH$mgmgmR>r g§KQ>ZoH$Sy>Z Ho$bo OmUmao à¶ËZ Xe©{dVo

A) {dnZZ ì¶yhaMZm ~) Z’$m ì¶yhaMZm

H$) pñWaVm ì¶yhaMZm

vii) CX²Xrï> nwVuMr ............. VnmgÊ¶mgmR>r ì¶yhaMZm ‘wë¶‘mnZmMr JaO AgVo.

A) ’$m¶Xo ~) AS>Wio

H$) n[aUm‘ H$maH$Vm

viii) g§nwU© JwUdÎmm ì¶dñWmnZ  ................ à{V{~{~V H$aVo.

A) CËnmXZmMm AamIS>m ~) g§KQ>Zm nÕVr

H$) darb gd©

àíZ 2) "ì¶yhaMZmË‘H$ ì¶dñWmnZmMr' ì¶m»¶m Úm. ì¶yhaMZmË‘H$ ì¶dñWmnZmMo ñdê$n d ì¶már {deX
H$am. [14]

àíZ 3) "ì¶yhaMZmË‘H$ {Z¶moOZmMr' ì¶m»¶m Úm. ì¶yhaMZm {Z¶moOZ à{H«$¶oV g‘m{dï> Agboë¶m nm¶è¶m
{deX H$am. [14]

àíZ 4) "ì¶yhaMZmË‘H$ {ZdS>' ¶m g§H$ënZoMr ì¶m»¶m Úm. ì¶yhaMZmË‘H$ {ZdS> àH«$s¶oVrb ‘w»¶ nm¶è¶m
ñnï> H$am. [14]

àíZ 5) "‘Zwî¶~i g§gmYZ' ì¶yhaMZm Am{U "dhmVyH$ ì¶yhaMZm' ¶m g§H$ënZm ñnï> H$am. [14]

àíZ 6) WmoS>³¶mV {Q>nm {bhm (H$moUË¶mhr XmoZ) [12]
A) ì¶yhaMZmË‘H$ {ZU©U KoUo

~) ñdm°Q> (SWOT) {díbofZmMo ‘hÎd

H$) ì¶yhaMZm ‘wë¶‘mnZmMr JaO

S>) {g³g {g½‘m  (Six Sigma)
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